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$EVWUDN �37 5HDVXUDQVL�,QWHUQDVLRQDO�,QGRQHVLD��5H,1'2��PHUXSDNDQ�

VDODK� VDWX� SHUXVDKDDQ� GHQJDQ� NHJLDWDQ� PHODNXNDQ� XVDKD� GL ELGDQJ� UHDVXUDQVL�

VHMDN� WDKXP� ������ 3URGXN�SURGXN� UHDVXUDQVL� \DQJ� GLWDZDUNDQ� NHSDGD� FHGLQJ�

FRPSDQ\� PHOLSXWL� ELVQLV� UHDVXUDQVL� MLZD�� ELVQLV� UHDVXUDQVL� XPXP� GDQ� ELVQLV�

UHDVXUDQVL�V\DULDK� 6HNLWDU�WDKXQ�������5H,1'2�PHQJDODPL�PDVD�VXOLW�NDUHQD�SDGD�

VDDW� LWX�NDU\DZDQ�NDU\DZDQ�DKOL�GHQJDQ�SHQJHWDKXDQ�GDQ�NHPDPSXDQ�\DQJ�NKDV�

NHOXDU�SDGD�ZDNWX�\DQJ�EHUVDPDDQ VHKLQJJD�5H,1'2�KDUXV�³PXODL�GDUL�DZDO´��2OHK�

NDUHQD� LWX�� PDQDMHPHQ� 5H,1'2� PXODL� PHQ\DGDUL� SHQWLQJQ\D� PHQJHOROD�

SHQJHWDKXDQ� �NQRZOHGJH� PDQDJHPHQW��� .QRZOHGJH� PDQDJHPHQW� �.0�� MXJD�

EHUSHUDQ�DWDV�SHQJHORODDQ�SHQJHWDKXDQ� WDFLW NDU\DZDQ�\DQJ�GDSDW�GLXEDK�PHQMDGL�

GRNXPHQ�SHQJHWDKXDQ�EHUEHQWXN�HNVSOLVLW�DJDU GDSDW�GLSHODMDUL�ODJL�ROHK�NDU\DZDQ�

6HKLQJJD�� 5H,1'2� SHUOX� VHJHUD�PHQJHPEDQJNDQ .0��PHQJLQJDW�NXDOLWDV�SURVHV�

NRQYHUVL� SHQJHWDKXDQ� GDUL .0 VDQJDW� EHUSHUDQ� GDODP�PHQLQJNDWNDQ� NRPSHWHQVL�

NDU\DZDQ�GDQ�LQWHOOHFWXDO�FDSLWDO�SHUXVDKDDQ�


